1 m
kg:=1 m:=1 s==1 Hz:= — g:= 9.8O7~—2 te:=10-s
S
0.03064734
Xg:=50m Ai=2.——— mg:=1kg Yo = )\-XO2 p=01 te:=5's
m
k o1
5y = 1.29.—g3 6= 012  d:=06m A= %-dz = — Ay
m

Original equations with extra conditons disabled:

Given
y'(1) = 222x(t)-x' ()" DISABLED
K 2 2 X (t)- X +y ()2
X't + X (O~ x ) + y' (0 + - g £ 2X (1) A y -0
my 2.2 V2 2 3
\/4-x(t) AT+ 1-\/x 7 +y'() (4.X(t)2_A2 . 1)
k [ .2 2 y'(t)-g \]X'(t)2 + y‘(t)2
y'(t) + 9+ y'(t)~?- XM +y(@®) +p - > > + 2.y (1) - =0
k ' '
\/4-x(t) AT+ 1-\/x(t) +Y'(1) (4_X(t)2l/\z . 1)
x(0) = Xg X(0)=0  y0)=y, Vy(0)=0 x"(0) = 0" DISABLED
X X
( j:z OdesolveK j,t,te}
y y
160,
50.06 160,
\
140 50.04 10 NG
120 50.02 120
y(t) x(t) 50 y(t)
100 100
49.98
80 49.96 80
60 49'940 1 2 3 4 60O 1 2 3 4 5
49,94 49,96 49.98 50 50.02 50.04 50.06
t t

x(t)

0
%Y(t) B 10\\ Y (t) = 2-A-x(1)-X'(t)

2~)\-x(t)-d—x(t)_ 20
dt

\ condition not fulfilled

-30
0

Date: 26.02.2017; Time: 09:37 File: LM_20170225_L agrangeDE2_c.xmcdz Page: 1 of 2



y'(t) substituted (like F.M. did):

Given
2 k| 2.2 u'(g + 2'/\'X'(t)2)
X'() + X'(1) " — 1+ ANTX() + =0
My 42202 + 1
2 k 2 .2 2,u~)\~x(t)~(g + 2~>\~x'(t)2)
y'(t) + g + 2-A-x(t)-x'(t) »—w/l + AN X(t)" + =0
M 1+ 43%x()?
x(0) = %o x'(0) =0 y(0) =yo y'(0)=0
.= Odesolvd | 4
y )= Odesohva| )i tte. 10 t:= 0s,0.01s..t, ty= 55
200
50— 200
150 N\
/ 49.9 N\ 150 ~
P
y(t) 100 v X(t) 49.8 y(t) 100 AN
e N\
50 49.7 \ 50
yd N
0 VO s 4« % 1 2 3 4 s
496 497 498 499 50 :
t t
x(t)
0
d ~10 . .
—y(t) y (1) = 2:-Ax(t)-X'(1)
dt -20

condition not fulfilled

2 x(t)-Lxty 30
— 4

- 50
0
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